

NAME MUHAMMAD ZARAK KHAN

ID 13794

Q1: a) Differentiate  $\frac{3x^2 - 5x^2 + 5}{x^2 + 1}$  with respect to "x"

Change into product form

$$(3x^2 - 5x^2 + 5)(x^2 + 1)^{-1}$$

$$\text{Let } y = (3x^2 - 5x^2 + 5)(x^2 + 1)^{-1}$$

differentiate with respect to "x"

$$\frac{dy}{dx} = \frac{d}{dx} \underbrace{(3x^2 - 5x^2 + 5)}_I \cdot \underbrace{(x^2 + 1)^{-1}}_{II}$$

$$= (3x^2 - 5x^2 + 5) \frac{d}{dx} (x^2 + 1)^{-1} + (x^2 + 1)^{-1} \frac{d}{dx} (3x^2 - 5x^2 + 5)$$

$$= (3x^2 - 5x^2 + 5) (-1)(x^2 + 1)^{-2} \frac{d}{dx} (x^2 + 1) + (x^2 + 1)^{-1} (9x - 10x)$$

$$= (3x^2 - 5x^2 + 5) (-x^2 - 1)^{-2} (2x) + (x^2 + 1)^{-1} (9x - 10x)$$

$$= (3x^2 - 5x^2 + 5) (-x^2 - 1)^{-2} (2x) + (x^2 + 1)^{-1} (9x - 10x)$$

$$= (6x^3 - 10x^3 + 10x) (-x^2 - 1)^{-2} + (x^2 + 1)^{-1} (9x - 10x)$$

Required Ans!

① ∴ b

$$\frac{(x^2+1)^2}{x^2-1}$$

$$\text{let } y = \frac{(x^2+1)^2}{x^2-1}$$

chang into product form

$$y = (x^2+1)^2 (x^2-1)^{-1}$$

differentiat with respect to "x"

$$\frac{dy}{dx} = \frac{d}{dx} (x^2+1)^2 (x^2-1)^{-1}$$

$$(x^2+1)^2 \frac{d}{dx} (x^2-1)^{-1} + (x^2-1)^{-1} \frac{d}{dx} (x^2+1)^2$$

$$(x^2+1)^2 (-1) \frac{d}{dx} (x^2-1) + (x^2-1)^{-1} (2 \frac{d}{dx} (x^2+1))$$

$$(x^2+1)^2 (-1)(x^2-1) \frac{d}{dx} (x^2-1) + (x^2-1)^{-1} 2(x^2+1) \frac{d}{dx}$$

$$(x^2+1)^2 (-x^2+1) \frac{d}{dx} (x^2-1) + (x^2-1)^{-1} (2x^2+2) (2x)$$

$$(x^2+1)^2 (-x^2+1) (2x) + (x^2-1)^{-1} (2x^2+2) (2x) \quad 2x$$

Required Ans: .

Q 2: a)

Find  $\frac{dy}{dx}$  if  $y = (1 + 2\sqrt{x})^3 \cdot x^{3/2}$

Solution:  $y = (1 + 2\sqrt{x})^3 \cdot x^{3/2} \left[ (1 + 2\sqrt{x}) (x^{1/2}) \right]^3$

Let  $u = (1 + 2\sqrt{x}) \cdot x^{1/2}$  — (i)

Then  $y = u^3$  — (ii)

Differentiating (ii) with respect to  $u$ , we have

$$\frac{dy}{dx} = 3u^2 \cdot \frac{d}{dx} \left[ (1 + 2\sqrt{x}) \cdot x^{1/2} \right]^2 = 3(1 + 2\sqrt{x})^2 \cdot x$$

Differentiating (i) with respect to  $x$ , gives

$$\frac{du}{dx} = \left( 1 + 2 \cdot \frac{1}{2\sqrt{x}} \right) \cdot x^{1/2} + (1 + 2\sqrt{x}) \cdot \frac{1}{2\sqrt{x}}$$

$$= 1 + \frac{1 + 2\sqrt{x}}{2\sqrt{x}} = \frac{2\sqrt{x} + 1 + 2\sqrt{x}}{2\sqrt{x}} = \frac{1 + 4\sqrt{x}}{2\sqrt{x}}$$

Using the formula  $\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$ , we have

$$\frac{d}{dx} \left[ (1 + 2\sqrt{x})^3 \cdot x^{3/2} \right] = 3(1 + 2\sqrt{x})^2 \cdot x \cdot \left( \frac{1 + 4\sqrt{x}}{2\sqrt{x}} \right)$$

$$= \frac{3}{2} (1 + 2\sqrt{x})^2 \sqrt{x} (1 + 4\sqrt{x})$$

$$= - (1 + 2\sqrt{x}) (\sqrt{x} + 4x)$$

Q2: b) Differentiate  $\sqrt{\frac{a-x}{a+x}}$

Sol: Let  $y = \sqrt{\frac{a-x}{a+x}}$  and  $u = \frac{a-x}{a+x}$ , then  $y = u^{\frac{1}{2}}$

$$\text{Now } \frac{dy}{du} = \frac{1}{2} u^{\frac{1}{2}-1} = \frac{1}{2} u^{-\frac{1}{2}}$$

$$\text{and } \frac{du}{dx} = \frac{d}{dx} \left( \frac{a-x}{a+x} \right) = \frac{\left[ \frac{d}{dx} (a-x) \right] (a+x) - (a-x) \left[ \frac{d}{dx} (a+x) \right]}{(a+x)^2}$$

$$= \frac{(0-1)(a+x) - (a-x)(0+1)}{(a+x)^2}$$

$$= \frac{-a-x-a+x}{(a+x)^2} = \frac{-2a}{(a+x)^2}$$

Using the formula

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$$

$$\frac{d}{dx} \left( \sqrt{\frac{a-x}{a+x}} \right) = \frac{1}{2} u^{-\frac{1}{2}} \left[ \frac{-2a}{(a+x)^2} \right] = \frac{1}{2} \left( \frac{a-x}{a+x} \right)^{-\frac{1}{2}} \times \frac{-2a}{(a+x)^2}$$

$$= \frac{(a-x)^{-\frac{1}{2}}}{(a+x)^{\frac{1}{2}}} \times \frac{-a}{(a+x)^2} = \frac{-a(a-x)^{-\frac{1}{2}}}{(a+x)^{\frac{1}{2}} (a+x)^2}$$

$$= \frac{-a}{(a+x)^{\frac{3}{2}}} \text{ Ans!}$$

Q3: a) Find the integration of  $\int \frac{1}{\sqrt{x^3}} dx$

Solution:  $\int \frac{1}{\sqrt{x^3}} dx$

$$\int \frac{1}{\sqrt{x^3}} dx = \int \frac{1}{x^{3/2}} dx$$

$$= \int x^{-3/2} dx$$

$$= \frac{x^{-3/2+1}}{-3/2+1}$$

$$= \frac{x^{-1/2}}{-1/2}$$

$$= \frac{x^{-1/2}}{-1/2}$$

$$= \frac{x^{5/2}}{5/2} + C$$

$$\int \frac{1}{\sqrt{x^3}} dx = \frac{x^{5/2}}{5/2} + C \text{ Ans 2.}$$

$$\textcircled{b} \int \frac{1}{(6x+7)^6} dx$$

Solusi n:  $\int \frac{1}{(6x+7)^6} dx$

$$\int \frac{1}{(6x+7)^6} dx = \int (6x+7)^{-6} dx$$

$$= \int (6x+7)^{-6} dx$$

$$= \frac{(6x+7)^{-6+1}}{-6+1}$$

$$= \frac{(6x+7)^{-5}}{-5} = -\frac{1}{5} (6x+7)^{-5}$$

$$\int \frac{1}{(6x+7)^6} dx = -\frac{1}{5} (6x+7)^{-5} + C$$

ANS